e 80-6000 Sniper Flood Pumper
A11(11A Parts List

PRODUCTS

Your Ultimate Choice in
Profitable Cleaning Performance!

No. on Schematic  Item No. Item Description Quantity
1 10-0017 Deflector Screw 2
2 10-0023 Shoulder & Waist Belt Washer 4
3 10-0024 1 1/2"Black Vacuum Hose 53
4 10-0074 Flat Washer #8 SAE 4
5 10-0155 Hose Cuff Straight 1
6 10-0196 11/2"x 2" Hose Cuff 2
7 10-0204 Motor Mount Back-Up Washer 6
8 10-0379 8-32 x 3/8 Screw 4
9 10-0416-A 1-1/2" Black ABS Stand Pipe 14
10 10-0419-A Screw for Sniper Hatch 12
11 10-0800 Flood Pumper Pump 2
12 10-0803 Splash-proof Switch for Sniper 3
13 10-0804 Hatch Cover for Extractor 1
14 10-0804-A Hatch Cover Gasket for Sniper 1
15 10-0805 Dump Valve for Extractor 1
16 10-0807 Wheels for Extractor 2
17 10-0808 Caster for Extractor 2
18 10-0809 Sniper 3-Hole Switch Plate 1
19 10-0816 Caster Bolt 8
20 10-0818 S/R Top of Tank Bolt 1/4-20 x 1-1/8
Socket Head Cap Screw Stainless 2
21 10-0820 End Cap for Rod on Sniper 4
22 10-0821 Sniper Hinge 2
23 10-0822 Exhaust Grate for Sniper 3
24 10-0825 Flood Pumper Motor 2
25 10-0830 Hinge Keeper for Extractor 2
26 10-0831 S/R Bracket for Sniper 2
27 10-0832 S/R Strap Bolts 4
28 10-0833 Motor Manifold Bolts for Sniper 4
29 10-0833-L Motor Manifold Bolt for Sniper 6
30 10-0834 Pump Flat Washer 18
31 10-0835-B Pump Bolt 100 psi Sniper 8
32 10-0835-N Nut for Pump Bolt on Sniper 8
33 10-0836 19" Axle for Sniper 1
34 10-0838 Pigtail for Extractor 1
35 10-0840 Nylon Washer for Sniper Axle 8
36 10-0848-B 1-1/2"90 Deg. ABS Street Elbow 3
37 10-0849 1-1/2" ABS Fitting 1
38 10-0850 Strain Relief for Sniper 1
39 10-0851 Strain Relief Nut for Sniper 1
40 10-0858 Clamp for Sniper #5740 1

© 2011 Sandia Plastics | www.sandiaplastics.com



e 80-6000 Sniper Flood Pumper
A11(11A Parts List

PRODUCTS

Your Ultimate Choice in
Profitable Cleaning Performance!

No. on Schematic  Item No. Item Description Quantity
41 10-0860 25 ft. Extension Cord - Sniper 1
42 10-0882 1 1/4" Steel Pipe for Sniper 0.7
43 10-0904 Foam Heater Insulation 1
44 10-1030-S3 3-Stage Sniper Motor Gasket 2
45 80-0003-A 1-1/2" Black Lined Gray Hose 2
46 80-0008 1.5 PVC Female Adapter 1
47 80-0012 Shut-Off Assembly for Extract. 1
48 80-0100 3/4 hose x 3/4 MNPT 1
49 80-0101 3/4” Check Valve 2
50 80-0102 3/4” MNPT x 3/4” Barb 4
51 80-0102-M 3/4” NPT Lock Nut 2
52 80-0130 3/4" Brass Tee 2
53 80-0131 3/4" Brass Close Nipple 1
54 80-0104 Strain Relief for Sump Pump 1
55 80-0105 Float Switch for Sump Pump 1
56 80-0106 3/4" Hose for Auto Dump 6
57 80-0110 3/4” GHT Cap 2
58 80-0113 1”"Hose Clamp 8
59 80-0114 50 ft. Auto Dump Hose 1
60 80-0116 Spacer for 3-Stage Extr. Motor 6
61 80-0140 1”PVC Female Adapter 5
62 80-0141 1" Close Nipple for Flood Pump 5
63 80-0142 Tank Adapter for Flood Pumper 1
64 80-0503 Sniper Extractor Hose w/ Cuffs 1
65 SN-12-L-OTML12 Gal. Lid Oatmeal 1
66 SN-12-MB-BLUGRAN 12 Gal. Motor Base Blue Granite 1
67 N-12-MFLD Sniper Motor Manifold 2
68 SN-12-RT-BLUGRAN 12 Gal. Recovery Blue Granite 1
69 SN-12-ST-OTML 12 Gal. Solution Tank Oatmeal 1

© 2011 Sandia Plastics | www.sandiaplastics.com



